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1. 9T & 518 g o 39I0T garT
YT SATdT 87

A. JefaaATdY

B. YRTATIT

C. 3TTgiaATd

D. {FdGITHATIT

Ans. A
Sol.

* S Gald &l Teh 3YhUT GaRT ATAT
ST & {18 veh gefaATd @t ST ¢
* gefaATdr qiul &I gefr & aru-ary
3T AT ABAH RIRAT F HiaK
Qefad garg & ATar

2.4 IRR F A9 H § $H RIS T4
J I8l 87

A. 9l - 3™

B. AR UMY - 1gW

C. SUTd AT - 10 JH

D. I gt (Tl Rsw)- 2 gm|
Ans. D

Sol.

I qHierdl & 2 Siig (11 d 3R 12 ) &
3 gafert ol U | §elt § SR SARY
d% el ugdadi g |

“hIeR gigdl (FHell) P 2 W19 B

AR U & 3 WIS B

U T & 12 WIS B

3.5 & §1¢, 1T 3R 9= & s &l
T fiie Pe ST 82

A. TR I55]

B. F18TATel Too]

C. T o]

D. Ifar Qo'ao
Ans. A

$
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Sol.

- Y Tog] RIY &1 7 ¥ Srsdi ]
TS, T @ §=2 BT STRI 3R
HIoH Ugardi g |

- SR BT 5T U7 BIell & & UaTg Pl
A o ToTT vrerar 1 Io9] WR 2 el
QIS

%ﬁlﬁqwﬁqwmm‘r%%ﬁa{ﬂa
A: WWW (Proximal

convulated tubule)

B. gXadl YATAER Hfeieh (Distal

convulated tubule)

C. 33 e 3% o@ 3w &
(Ascending limb of loop of hele)

D. i g 3w o7 37w

geTer (Descending limb of loop of henle)

Ans. C
Sol.

A BIART Tl T dT6T APrerar & 3R
NYF IFdYaE H Ay Aodr gl
- AR IR gafadt fr AR gl F
forw 3T gich & safaT Al & gd
REd & Afsyx & ay-ary arelr g1
Raar Bl

5.3 ST & T DI IT gTHMA SR H
fAfefa giar 82

A. 3o B. THTSON

c. foRIRRg D. SWRIad gt
Ans. A

Sol. « Lipase breaks down fat molecules to
be easily absorbed by the body
* Amylase breaks down carbohydrates into
sugar molecules o be easily absorbed by

body
* Insulin regulates sugar level in the body
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6. fob il I BT erhetatt A1 WiTHT

FHedd gl
A. T
B. GMT
C.¥d

D.dg
Ans. C
Sol.

{8l aXH UdhoardT JigAT Id
HEANdl & | 3aT8UN & foIE 3 WY 3R
S & o gyur BT 9 sHET T 3R
ITERUN B 3P 3fTal, HR Hafdd avg
TR & & HAIHY HT §d & |

e & givTd O & 9
aﬁ?;;ﬂﬁ%(ﬁwﬁ)l

c@?aﬁcm
D. TR

Ans. D

Sol.

* It’s the cellspacing which specifies the
distance between two cells.

* In such a command attribute, a designer
can increase the size of the borders in a
table without increasing the margin of what
is inside a text box.

* In contrast to this, cellpadding involves
increasing the amount of margin inside
each cell or box to create more white space
around the text area.

8P & Udh HHH ¥ gWx H1egd o

TToRA W 3u! fa=m # g aret gRadH
DI g HEA g |

A. 30T

B. fagd=

C. G=RU

D. &3 fadheu Uel 781 §

Ans. A

$
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Sol.

TeRUT & A1eH § uRadd & BRI
BT &t fexn A uRada &) siuad- &
=g H ST ST 8 | 97 S BT 8
i Arend H uRgda TRor A H
URadH arar 8, orgH Uy Bl Bt
Mgy & Seara & famr aineed o
gfac =mfHd g &, foras fazn &
URad BT g

9.9T8 &I 3SARC H WAdd & =7 H
gt U faar Sirar 82

A. 3[dd gUul

B. 3{ddd g

C. Idd o

D. 3 gUUl

Ans. A

Sol. A Concave mirroris used for
headlights of vehicles. When a lighted
bulb is placed at the focus of a concave
mirror, then the concave mirror collects all
the diverging rays of the bulb and converts
them into a powerful beam of light rays that
can reach a large distance in the darkness of
night and make us see things up to a
considerable distance.

10.3Mad IRt & FlF @A T
;A g2

A. gfafafer aca

B. 3ifer 3

C. aRadl dca

D. 31fpa 9Radl aca

Ans. B

Sol.

» Aninert gasis a gas that has extremely
low reactivity with other substances. The
noble gases—helium, argon, neon, xenon,
krypton, radon, and element 118 (Uuo)—
exist in their elemental form and are found
in Group 18 of the periodic table.
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11.3R® T ygad Heaqul =eroged
BliRcad

A. HIRHY TR S

B. 13¢H Ik

c. feua wiehe

D. YT T

Ans. A

Sol. « Most plants need fertilizer to grow
and blossom, and nitrogen is a key nutrient.
Commercial fertilizers typically contain a
mix of nitrogen, phosphorus and potassium,
with nitrogen being responsible for foliage
growth. This makes nitrogen especially
important for leafy plants and lawns.
 The main use of calcium cyanamide is in
agriculture as a fertilizer. In contact with
water, it decomposes and liberates
ammonia: CaCN2+ 3 H20 —2 NHs+
CaCOs.

» Calcium cyanamide is also used as a wire-
fed alloy in steelmaking

1213 IreT U1 off Tt STl 82
A. OIfsgH pEHe

B. OifgTH SIshIEe
C. HfxrH BT

D.3TH A PIs gl
Ans. A
Sol.

* QfTH Frefae &) arasT GieT, JisT
1@ 3R AAEEgT ¥ H fheed defac
M FgraTareg

* g PIEITeleh 373 I STcl-

faerer Aifsg#d equr g

* g 31ThR foheceld f3hgigge & &9
H 8T &, S 3y & Aligrsse H
gRAfd g1 ST & S foh Ueh 99 I13s%
gl

$
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g.ﬁT‘f&Hﬁﬁgﬁ%W@rﬁww

A TaH geur
B. YA HEER
C.ifced

D. 3Hce

Ans. B
Sol.

- HAA AEEAR A1 "ATs AT &
AT ¥ Y ST STar B

- qYAT AGER & oA AT odfegd
(31T 3feal IR AT gred e are),
safole  (ARYET faea), ey (Fafr
Sl § #Ed), AWREd (W), 3N
HEIAR (SETEY) & A § 8ff ST Sirer
gl

149YH YT YR foae gur &t
RITIAT fpa P12

A. Tgallele TIEaar
B. HGTcHT Jmedt
c.sT.afr.algqm?ﬁ

D. TER TedldH S gcol
Ans. A
Sol.

* @ ARAT fraer gHT T Y
S segfaee arct odr St fhamt
& o Tafoa &1 iy o)

* T

AT FgsteIg aXEadt = 1936 &
TGS F I o

*ZHAT TST 3T 1936 H HRAT
TSERT FHIUT & T o aRieT fohar a=r
UT| EOHT TESAlelg EIEIAl &l 3HH
Ugel 3EYET & T H AT IAT AT
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15. Direction: Select the segment which
has an error.

It was a really bad movie- a worse movie
I’ve ever seen in my life.

A. I’ve ever seen

B. a worse
C. inmy life
D. was areally
Ans. B
Sol.

Here, the superlative degree will be used.
It should be ‘the worst movie’ in place of ‘a
worse movie.” Hence, option B is the
correct answer.

16. In the sentence, identify the segment
which contains the grammatical error.
Mohini washes all her clothes and cooks
food for the family before she going to the
office.

A. Mohini washes all her

B. clothes and cooks food

C. for the family before

D. she going to the office

Ans. D

Sol. Option D has the grammatical incorrect
part. Instead of going we should use goes
because we uses present indefinite tense for
showing habits. For example- He sings
daily. Hence option D is the correct answer.

17. Select the most appropriate idiom (in
the context) to fill in the sentence.
Just call us on this number if you have any
problems, and we'll be back

A. for cut

B. at a loss

C. for nuts

D. in a jiffy

Ans. D

Sol.

The idiom 'in a jiffy' means immediately,
very quickly, or at once.
Hence, option D is the correct answer.
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18.Pick a word opposite in meaning to
Predecessor

A. lessor

B. successor

C. oppressor

D. processor

Ans. B

Sol.

Predecessor means a person who held a job
or office before the current holder.
Successor means a person or thing that
succeeds another.

Oppressor means a person or group that
oppresses people.

Lessor means a person who leases or lets a
property to another; a landlord.

Processor means a machine that processes
something.

Hence, option b is the correct choice.

19. Select the most appropriate meaning of
the given idiom.

A dog’s life

A. arestful life

B. a life spent in guarding something

C. alife full of freedom

D. a miserable existence

Ans. D

Sol.

A dog’s life is an idiom which is used to
denote an unhappy existence, full of
problems or unfair treatment.

Therefore, option (D) is the correct answer.

20. Select the synonym of the given word.
EXTRICATE

A. delete

B. intricate

C. remove

D. complicate

Ans. C

Sol.

Extricate means release from
entanglement or difficulty.

Delete means cancel or erase.

Intricate means complex.
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Remove means get rid of something
abstract.

Complicate means make more
complicated.

Therefore, option (C) is the correct answer.

21.Select the wrongly spelt word.

A. hospitable

B. humanitariun

C. hasten

D. hostile

Ans. B

Sol.

Option B has the wrongly spelt word. The
correct spelling is Humanitarian which
means someone who is devoted to the
promotion of human welfare and to social
reforms.

Hospitable means friendly and welcoming.
Hasten means to speed up the progress of
something.

Hostile means aggressive.

Therefore, option (B) is the correct answer.

22.Select the word which means the same
as the group of words given.

A large enclosure for keeping the birds in
A. apiary

B. aquarium

C. aviary

D. menagerie

Ans. C

Sol.

Apiary- a shed containing a number of
beehives.

Agquarium- a place where fishes are kept.
Aviary- a place where birds are kept.
Menagerie-a collection of live animals for
study or display or zoo.

Therefore, option (A) is the correct answer.

23T U eredl @ YT wmA H
$HHAIR TIRYd Bl

1) X33 a3,

2) ATSEhIAT,

3) raxFd fafawor,

ol
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Sol.

In this question, we show that —

All the rays in the increasing their
frequency form radio waves then
microwaves then infrared radiation then
visible light then ultraviolet radiation.

So the correct sequence is 1, 2, 3, 4, 5.
Hence, correct answer is option C.

247578 YR I T HIE TS Aol A
& 3T YR IR FT T HEd
A. 3T9eT

B. X

C.gey

D. 99

Ans. D

Sol.

The relationship is- word: intensity.
Extreme error is called Blunder
and Extreme crime is called Sin.

Hence, the correct answer is option D.

2539 AT & 990 H¢ fow@d gEge
3t yer wERg & W 9ER
frfaf@d de fr gea’ g6t &
(8, 27, 36)

A. (9, 18, 56)

B. (20, 31, 51)

C. (4, 15, 20)

D. (14, 23, 46)

Ans. C

Sol.

As,

8*3+3=27

8*4+4=36
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Similarly,
4*3+3=15
4*4+4=20
Hence, option C is the correct answer.

26.316RT o 3T AT & IITT
Y, o0 FfAE T I U 3T Rl
H I@T ST G|

cab_cca_ccc_bcccab_cc_bce

A. cbbbb

B. cbaca

C. cbcca

D. acaca

Ans. B

Sol.

Logic- cabcc is repeated 5 times.
cabcc / cabcc / cabec / cabec / cabee
Hence, the correct answer is option B.

27. AT IR Usel H ¥ T T
fAftaag 3+ & & g § 3R ™
et 81 fawe eeg &1 gaa H|

A. GigeT

B. &ell
C. gadr

D. Tsgrdr

Ans. D

Sol.

Except Entropy, all are vector quantities.
Entropy is a scalar quantity.

Hence, the correct answer is option D.

28.39 d%ed &l TIT H o gd

feu Iv g&aT e & FHAT TEY g
(23, 57, 200)

A. (25, 95, 120)

B. (10, 56, 100)

C. (19, 31, 125)

D. (14, 99, 158)

Ans. C

o
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Sol.

Pattern is:

As,

(23 +57) x 5/2 =80 x 5/2 = 200
Similarly,

(19 +31) x 5/2 =50 x 5/2 =125
Hence, the correct answer is option C.

29.37¢ COMMENT &I 4171617102027
& ¥ H Fedeyw fhar ar g
3R SHARE &I 201042210 & &7 &
gedey fhar arar g alLIKE® &4

shesey fohar STeam?

A. 1311149 B. 1315149

C. 2691149 D. 1311169
Ans. A

Sol.

As,

COMMENT=
C(3)0(15)M(13)M(13)E(5)N(14)T(20)

C(3+1)0(15+2)M(13+3)M(13+4)E(5+5)N
(14+6)T(20+7)

= C(4)0(17)M(16)M(17)E(10)N(20)T(27)
=4171617102027

And

SHARE= S(19)H(8)A(1)R(18)E(5)

= S(19+1)H(8+2)A(1+3)R(18+4)E(5+5)

= S(20)H(10)A(4)R(22)E(10)
=201042210

Similarly,

LIKE= L(12)I(9)K(11)E(5)=
L(12+1)1(9+2)K(11+3)E(5+4)
=L(13)I(11)K(14)E(9)

=1311149

Hence, the correct answer is option A.

3087 IS AT H T W HEAT Ted

g7

7,13, 25,59, 67, 193
A. 67 B. 13
C.59 D. 193
Ans. C
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Sol.

Correct Series is- 7, 13, 25, 49, 67, 193
Logic-

3*2+1=7

3*4+1=13

3*8+1=25

3*16+1=49

3*32+1=67

3*64+1=193

Hence, the correct answer is option C.

31.3MR P13 ATCH Th FR DI 7% &
ATH TR 99T & 3R Th S5 Dl 16% P
ATH TR 9T 8 3R oH & =9 H 3255

7
U HHIAT ¢ | Afh 3R 98 PR Bl 2
% P BIf TR 3R TSP BI 5% b ATH TR
ST A1 3 DIs @TH IT 81 81 gial|
PR 3R TEH BT AN Yoo J1d Hifora?
A. 15000, 7000

B. 22500, 10500
C. 30000, 14000

D. $TH 9 IS o181

Ans. B

Sol.
Z

3% of car = 5% of bike
car 15
bike 7
Let the cost price of car and bike be 15x and
7x respectively.
Now,
. 7 .16
15x —100+7x —100_3255
21 28
:EXJFEX_BZSS
105x +112x
100 = 3255
3255*100
217

Now cost price of car

-15*1500=22500

= X = =1500

o
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and bike= 7 ~1500=10500

32.8 fAsIC & AT W UH I Seg A al
sgeh gl STl § | 39 7918 o) 3T arel
Teh STl o UG UTAT Tob Qlal sigehl el
3TATST & Golol & ST & 7 TAeTe 56 Aehs
T A} 21| Ife eafer 1 aar 595 FHe/
Ths &, dl 3T TATA W 3T aTell ST

forg arfay & (Topedi/ereT ) 31 38T UT?
A. 16
B. 23
C.18
D. 20

Ans. C
Sol.
Dif ference of time = 8 min.—7 min.56 sec = 4 seconds

Distance covered by man in 7 min.56 sec
= Distance covered by sound in 4 seconds = 595 X 4 = 2380 m

2380m 2380
7 min.56 sec 476
= 5 m/sec
= 5x(18/5) kmph = 18 kmph
The correct response is option C.

=~ Speed of man = m/sec

33.3ﬁx=ﬁr§-:—j§i% ARy, x & Fehd

g, ar (<3 + y3) T AT FIT BM?
A. 476
B. 472
C. 504
D. 488

Ans. D
Sol.
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1
Letx+—=a
X

1
3 3 _ .3 — a3 _
X +y*=x +x3_ﬂ' 3a

1
x+y=x+£
2(P? + Q%) (5+3)
- (P2—-Q2) “\5-3
=8
1
x*+—=512—24= 488

x3

34.@&3@@3%%@%@
et & foraes ogom 8 A+t § 3k 3w
i & Fas 2442 ¢ RfAg &

AT (FHI3 #) AT FL?
A. 480

B. 384

C.576

D. 1152

Ans. B

Sol.

Side of equilateral triangle = 80'r_n

. . '3
Area of equilateral triangle = "’: a’

V3
=7 % 82 = 16+/3cm?
Height of pyramid _ 24+/3em
Vol. of

pyramid = ; x base area x Height

1
=3 X 1643 x 2443
= 384cm?®

35574 Teh Gl 3ihl ahl T&AT Hl 3Th
3l & T A oM AT ST g A
OIS 424 31T §| ST Felch 3ol I
WER dGelel o oG 9od T&AT Hi
geleh 37hi & AT { oM fRAT ST

$
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&, gRoTme 280 3TaT 1 & TS TEar

% 37T BT T AT F?
A7

B.6

C.8

D.9

Ans. C

Sol.

Let the two digit number = ab
ATQ.
(10a+b)(a+b) = 424 ....(0)

(10b+ a)(b+ a) =280 ....(ii)
Dividing equation (D by equation {iij, we

get —

10a+b 424
10b+a 280
10a+ b 53
10b+a 35
ab 53

ba 35

The number is 53.
Required, sum of digit of
number =2+ 3 =18

36.tan%@ + cot?® - sec?@ cosec’@ T HTeT

T | & a7 ghem?
A.0

B.-2

C.1

D.-1

Ans. B

Sol.

tan®¢ + cot® ¢ — sec” ¢ cosec’
sin¢ cos®¢ 1
" cos? 0] * sin? ¢ " cos? ¢ sin? @
sin* ¢ + cos*¢p — 1
cos? ¢ sin? ¢
(sin® ¢ + cos?¢)? — 2sin’ ¢ .cos’p— 1
- cos? ¢ sin? ¢
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1—2sin*¢.cos?¢p — 1
- sin® ¢ . cos? ¢

—2sin’ ¢.cos? ¢
- sin? ¢.cos? ¢ =2

373 x+y+z2 =2, xy + yz + zx
-11 3R xyz = -12 §,
ar V72 g e T g

2

oOwp
(o) JC. I A \o]

<
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Ans. D

Sol.

¥+ + 23 —3ayz=(x+yv+ )2+ y?+z2 —xy—yz—zx)
B+ + 3 =3xyz+ (x+y+ )2+ yi+2l —xy—yz—zx)....(Q)
(x+yv+2)=x>+y?+2z%+ 2xy+ 2yz + 2zx ... .(ii)
x+y+z=2,xy+yz+zx=-11

and Xyz = —12

Putting the values in egn. (1) we

get-

x*+y2+2z2=126

Putting the values in eqgn. (0 we

get -

x2+y*+z23=3x(—12) +2(26 +11)
x*+y*+z?*=38

Required -

Jx3+y3+22-2=438-2=6
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